Adding and Subtracting Surds

Work out:

(3) 4V2+3vV2  (b) 10V3 — 2V3
(c) =3V5+ 75 (d) 6v2 — 82
(e) 4V3 + 73 - V3

(f) 2V7 + 5vV7 — 8V7

(@ 3V5+2V5 - 15
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Express as a single surd:

(@) 3V2+V8  (b) V40 + V10
() 65 =20  (d) —2V3 + V48

(e) V8 + /32 — 10v2
(F) 5v3 =3 + 2v12
(9) —3v10 — V90 — 2v/160

Simplify:

(a) 54+ 2V3+ 13 +5V3

(b) 5V2 —3 — 242 + 11

(c) 2V3+3V2 + 6V3 —2
(d) 3vV5 — V10 — 610 — V5
(e) V8 + V20 + 62 + 3v/5
(f) V200 — 3v6 + 6v/2 — /486
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Find the values of x and y and the

perimeter of the compound shape in the

form av3 + b/5.
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V108 + 3V5
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6v3 + V80

oc= AR +3{B -J27

x =3[B+3]3
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\3= 28 +6{3

P = 2((\5‘3635«-65*5%0)
P= w3 + 24 {3




